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Before answering the

questions, ensure that you have been supplied the correct and
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General Instructions :

1.

2610

() & 557 sifard &

All questions are compulsory,

(i) 597 GG 1 8 20 7% G 597 & 49 o7 1 3 & &

Question Nos. 1 to 20 are Objective Type Questions. Each question carries 1
mark.

(W) JR7 G 21 § 24 7% Sy w7 797 & 40 997 3 ofF 7 &

Question Nos. 21 10 24 are Very Short Answer Type Questions., Each
question carries 3 marks,

(iv) %97 6&Ir 25 & 30 7% 7Y IHGT F97 &1 4 497 & oF 7 &

Question Nos. 25 to 30 are Short Answer Type Questions. Each question
carries 4 marks.

(v)] 597 G641 31 7 34 TF [T=I% 997 & WAF 997 6 F & &

Question Nos. 31 to 34 are Long Answer Type Questions. Each question
carries 6 marks.

& T {36 Rio @ T R=EW fo 3 avfl ¥ & mufts ww w Freffa ma @ ;
Fed A B T A A B & T w0 g BT A @ @ aifm svdm @ Re ogdm |
¥ S & A gEe I A o 1 e d g e s B 1 ‘
I 3 IF FFER A GeAIC TR A FuirE e §

(A) st IEm (B) o, T s
(C) il ga (D) SR & £ 77

Hare Krishna Industrics Ltd. and Rama Industries Ltd. are the companies
which are concerncd with using materials, which have already been extracted
al a primary state, These companics process such malgriuls to produce goods
for final consumption or for further processing by other industrial units,

Identify the type of industry to which these companies are related :
(A) Primary Industry (B) Secondary Industry
(C) .’T't'.rtiar}' Industry (D) None of the above
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2. Wi Y WA S B e e F IET & 1
(A) Pl Sumy (B) TR Bm
lCl_mm (D) v & & w7
Indian Railways is the example of ... form of public enterprises.
(A) Deparuncntal Undertakings (B) Public Corporations
(C) Government Company (D) None of the above

3, @ e I Rs. S0,000W%WWWRs.T0,000Hm%GﬂTHﬁE‘H%
aﬁfmﬁtm,a’taﬁmm%aamﬁiﬁaﬁMRs.so,oooaaﬁgnar-'fam:
W%ﬁqﬂﬂ,ﬂﬁﬂ%aﬁﬁRs.SO,OOD’lFH%WEﬁIRs.SO,OOOHMW?GﬂT
AT F afm @ o 3, @ 4 awh 39 Rs. 30,000 F & G B 1
aﬂmmmmmmmwwﬁa%:

(A) PrEead HR (B) &gt
(C) SR AL (D) ®F R FFH A

A person gets his stock insured worth Rs. 50,000 for Rs. 70,000. A fire occurs
and whole stock gets damaged. Insurancce company will pay him only
Rs. 50,000, i.c., the actual value of his stock and not Rs. 70,000. On the other
hand, if any person gets his stock insured worth Rs. 50,000 for Rs. 30,000
and the whole stock gets damaged, he will get only Rs. 30,000, the actual
value for which insurance has been taken.

Mention the principle of insurancc to which the above example is related :

(A) Proximatlc cause (B) Indemnity
(C) Subrogation (D) Mitigation

4. é-hﬂwwm%ﬁr«ﬁhﬁ%wéﬁmmﬁmmﬂmww«w
s B B é-mmaﬂwww%mmmmm%ﬁwﬁm
ova T 8 - 1
$.ReRE & eF B W AR . '
(A) B2B HTH (B) B2C Ad
() #m-B#d (D) C2C

There is a constituent of e-business in which transactions have business firms
at one end and its customers on the other end. It enables a business to be in
touch with its customers on round-the-clock basis.

Name the constituent of e-business :

(A) B2B Commerce (B) B2C Commerce

(C) Intra-B Commerce (D) C2C Commerce

2610 P.T.0.



) 2610

5. W P (Public Deposits) 92 FRY 2 € ............ ¥ R I 8 1
(A) S (B) #eh
(C) o (D) w@mf
Public deposits arc the deposits that are raised directly from ............... .
(A) The Public (B) The Directors
{C) The Auditors (D) The Owners
6. aftrr & wRom & Py ¥ ]} Ry g B 7 !
(A) I (B) Jaf
(C) I (D) SEdl @ Safa
What is the outcome of entreprencurship called ?
(A) Entreprencur (B) Entreprencurship
(C) Enterprisc (D) Entreprencur and Entreprencurship
7. W A R g A gl o % & & e 1
(A) 9% =T (B) HTH AR
(C) Wie (D) IAEH
The facility of 'home delivery of goods' is generally provided by veriin,
(A) Wholesaler (B) Retailer
(C) Agent (D) Producer
8 ¥ H ............ N I R s 2 1
(A) T B W B) T F fre
(C) A & qA (D) SqUw qdl
...................... is explained in the Indent.
(A) Name of goods (B) Quality of goods
(C) Price of goods (D) All of the above
TR ZEHIAF A # I T 8 (7 & T A/ ) |
............. 1s not an cxamplc of business Uncertainty.
(Wrong estimate of demand/ Earthquake)
10. gEafE I § 9 @ AR gE 2 (50/ % &iF dr @) 1
The maximum number of members in a public company is ........, (50/ No limit)

2610
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18.
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.............. g & & it e g (a7 s ) 1
....... ........ comes under general insurance. (Fire Insurance/ Life Insurance)
Prafet & RIC Q@ ot RRIT T AT B oo wed & (T vl ot R 1
Hiring the whole ship for Export is called ......... . (Charter Party/ Shipping Bill)
5% T & R iRt s me s ¥ - (s |
Every company must file Articles of Association. (True/ False)
g & w W 30 D fig T AR B (/3 1
All the patents in India have their validity for 30 years. (True/ False)
GST TSRy & offd ‘& @ FW & @ ¢ 7 5 daw T g T (F,/97) 1
Under the system of GST, the tax is charged not only on Value Addition but
‘Tax on Tax'. (True/ False)
' s wh aftis PRl @ weget Jeaw (owfd fexe) & WEM /@ [ H
¥ IR P e $ IR gU el @ FAE 81 38 e 1

It refers to conducting all the commercial activities through computer network

(Internet). The above statement is related to one of the emerging modes of
business. [dentify it.

“ze A I AR oMl A & WP d 8, O U H@ids @ & afad d
& fe R w1 & &1 SWeE U9 FE @ IO @ 9E @ wett & 38
qgar-ul ' 1

"It refers to that person or a group of persons whe performs various functions

to bring a business unit into existence.” The above statement is related to one
of the terms of formation of company. Identify it.

“gae S 1 ot & ¥ S A @M 3 g @ T @ o O A @
e A Wi e 817 SR 99 S % O SER § el ¥ o) wERw 1

"It refers to those shares which carry preferential right in the pa}:mcnt of
annual dividend and repayment of capital in the event of liquidation.” The
above statement is related-to one of the types of shares. Identify it

P.T.0.
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2 Ru o et & ¥ qd @ g 9 . 1
e (A) : B SEEt a0 R o B wE @ § o e o 3

F (R) : 96 TN $ AW H 0 O )

(A) T (A) T FROT (R) 3N 9 ¥ &R R, A B wd A ¥

(B) ST (A) T HRT (R) A4 % & oK R, A A Wt e 4 &

(C) R (A) O B AR #W (R) o ¥

(D) PR (A) T PRV (R) A oo E

Choose one of the eorrect alternatives given below :

Assertion (A) : The revenue earned by Departmental Undertakings' is paid into
the treasury. |
Reason (R): It is a source of income for the government.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A). 1

(B} Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false:

e R et ¥ A et B T e | :
AN (A) : UF EA0S THE SN G SIRQTAE % SEER & 36 Jiad @
R & Rt M T =@ R

'W(R.): T B S O R Tl 9§ O S B @R 3 99 3
(A) SRR (A) T FRO (R) A ¥4 ¢ &K R, A 9l F A B

(B) ¥R (A) T FRW (R) At G § R R, AR W aem T R

(C) R (A) & ¥ fFT FRT (R) 0 B
(D) T (A) T BT (R) A 9 &
Choose one of the correct alternatives given below :

Assertion (A) : The assumption of social responsibility by business provides
justification for its existence and growth.

Reason (R) :  The prosperity and growth of business is possible only through
continuous service to society.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A). |

(B) Both Assertion (A) and Reason (R) are true and Reason [R) is not the
correct explanation of Assertion (A). |

(C) Assertion (A) is true but Reason (R) is false.

(D) Assertion (A) and Reason (R) both are false.
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(7) o 2610
WA & A o7 o e

erte any three merits of partnership.

IR & oy orgER & B A SRR T 3
Mention any three responsibility of business towa;‘ds consumers.

det T worEt § HE 7 si TR | 3
Explain any three differences between shares and debentures.

CUC]]
OR

oy S ¥ B & B A A 3

Explain any three importances of finance in modern business.

et A & A 7 Rava Rt | | 3
Point out any three features of a retail trader.

1A

OR :
TR TGP AUS & %3 A7 A KISy - 3

Point out any three advantages of the Consumers' Cooperative Stores.

rEarE adr Ao 7 g ofe fefw ' | 4
Write four differences between Business and Employment.

cxe & T P ¥ 0 5 @ @ i 2424

What do you mean by Internet ? Explain its two benefits.

Yqr
OR

I & 5 & Riaa # 9o B

Explain any four principles of Insurance.

. FaEE F1 ¢ ? WO S99 @ §-99919 & By & $iR 24+2=4
What is e-Business ? Write any two differences between traditional business

. and e-Business.

28.

2610

o B Tagy A el 7 HEnel @ g i

Explain any four problems faced by a small business.

P.T.0.
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Oi% R & il o S B & W At R v el @ oot B 4

Explain any four services offered by the wholesalers to the manufactures or
producers. -

ST TawE & Bl v e W ey el | 4
Highlight any four importance of international business.
LLE|
' OR .
SIS 0 B (IMF) &0 8 ? 3600 & 764 e Fa5Q 2+2=4
What is International Monetary Fund (IMF) ? Explain its main two objectives.
TEdr! WIS & 7 oY B 7 IE IR gy v qeRy 24+4=6

What do you mean by cooperative organization ? Explain its four
characternistics.

Y
OR

I o9 3 B & gl & e #ifm 6

Discuss any six limitations of the company organization.

e B & R o Rdvt @ v Bk 5

Explain any six features of the public corporations.

TR D TR Q& ANE B 7 sEd R @ @ av & 5414=6

What do you mean by Incorporation of a Company ? Explain in brief its
procedure.

HYdl
OR

qrfg G a e sfdfm # ¥ & sfavs i 5
Give any six differences between the Memorandum of Association and the
Articles of Association.

St e ST B & R F s o8 A A B o Al o AR 6

Explain any six limitations of issuing equity shares to raise long term {inance.



